Unit 3 Quadratics EOC Quick Review

GCF:

- The greatest number that can be divided into each term

- The largest group of variables that can be taken out of each term.
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Factoring and Solving when a =1

- Equation must be in standard form ax? + bx + ¢

- Equation must be set equal to zero

- Find what multiplies to be your ¢ term, but will add to be your b term
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- Factoring and Solving when a >1

- Equation must be in standard form ax2 + bx + ¢

- Equation must be set equal to zero

- First look for a GCF

- No GCF present, use the “X" method

- Factor by grouping

- Simplify and Solve A+ C
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Special cases: Difference of Squares
- Present when you have only 2 terms
- Look for perfect squares

- Must have a + and a — minus )
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Solving by Square Roots:

- Must isolate the square term first — do so by solving using SADMEP
- Square root both sides

- Must have a + and a - answer
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Solve by Completing the Square: ¥ Fnd Min[Max - b
- Used to convert from standard from to vertex form s TFird Veriey X=  —
- Two methods to Complete the Square : ' pr o
- Once completed solve by using square roots
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Quadratic Formula: Ay Yy=-103

- Can be used tfo solve any quadratic equation in standard form
- Equation must be set equal to zero

- Find the discriminant first: Positive = 2R, Negative = NRS, Zero = IR
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Word Problems:
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- Key Words = Ground, water, surface: you are finding the x intercepts so use the Quadratic Formula
- Key Words = highest/lowest point, time at max/min: you are finding the x value or substituting to find the

max/min y value so use x = -b/2a
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